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Note : Attempt all questions.
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Instructions : Question No. 1 is objective type question. It consists of
Scction (A), Section (B) and Section (C). Each section has
§ questions of 1 mark cach. Visually impaired students

follow the instructions as given with the questions.
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Question Nos. 2 to 6 arc very short answer type questions.
Each question carries 2 marks. (Maximum word-hmit of
cach answer s 30 words)
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Question Nos. 7 to 10 are short answer type questions.
Each question carries 3 marks. (Maximum word-limit of

cach answer is 50 words)
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Question Nos. 11 to 14 arc short answer type questions.

Each question carrics 4 marks, (Maximum word-limit of
cach answer is 75 words)
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Question Nos. 15 and 16 arc long answer type questions.
Each question carries S marks. (Maximum word-limit of
cach answer is /00 words)
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Question Nos. 17 and 18 arc long answer type questions.

Each question carries 6 marks. (Maximum word-limit of
cach answer is /50 words)
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(Section-A) Choose and write the correct option :

() IA FM AR TR :

[] x §=%1

(1) w fean & () 2 femsdi §

(®) dm femsi 9 (?) =mi femaii 4

Energy flows :

(a) in one direction (h) intwo directions

(¢) inthree directions (d) in four directions
(if) o HAQ gEF ¢

(37) dfya afiS (%) ==

(7) T () T8

Olfactory scnsory indicator is :

(@) methyl orange (b) onion

(¢) turmeric (d) jaggery
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Fast cooling of sand at night represents which type of heat

transmission?
(a) Conduction (b) Convection

(c) Radiation (d) All of the above

(iv) Tena gdu & wads T8 F R ) Fed ¢ -
(37) TRa1 FR (7) ¥a
(7) mwa f=m (3) T&A AN
The centre of reflecting surface of a spherical mirror is called :
(a) centre of curvature (b) pole

(¢) radius of curvature (d) principal axis

(v) S TAEAE AL
(37) Fe,0,
(@) Fe 04
(8) Fe,05+xH,0
(3) FeO
The chemical formula of rust is :
(a) Fe,04
() Fe,0,
(¢) Fey0y:xH,0

(d) FeO
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(mvz-a) fra wml # 9 =i ; [1x5=5]
(Section-B) Fill in the blanks :
() —— SnFAfaH! =1 I ¥
___ is the father of genetics.
(if) — =ifrw St o fore vt A Wit e 1
___ converts mechanical energy into electrical energy.
(i) CH,CHO ¥ frarers o — %
Functional group in CH;CHOis __ .
(iv) faafia gl & deile @ a0 Fifve & —— sed § 1
A cell made up of a combination of opposite gametes is called ___ .
(v) W Ee ¥ ITes F e ot da — ¥
All organisms in the food chain are  except the producer.
(@vs-w) I Ty Sifea [1x5=5]
(=) (&)
() = - (@) wadsh,
(i) WIHR THE - T
(iii) % = - (o) e o
(iv) =T =t iferd o) 4
(v) A = (@ wigm s
(Section-C) Match the following :
(A) (B)
() Apple - () L.P.G.
(ify Salt - () Mirror
(ifi) Liquid butane - (¢) Mallic acid
(iv) Silver polish - (d) Non-metal
(v) lodine ~ (¢) Sodium chloride
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MgCl, ¥ T areita o u& wria g orem wtk andy wfen fafaan [1+1=2]
Separate acid and alkali radical from MgCl, and write them with

their charges.

iRl fose @ o9 = wwwd €2 (2]

What do you understand by rectified spirit ?
(2]

TfvFm dega T ?
What is nuclear fusion ?

47 Tafta A7 w1 W T9RY (FE @) |

Write the name of sexually transmitted disease (any fwo).

[2]

wafert fFd Fga § 2 (2]

What is omnivorous ?

faliy fd weq & ? 39«1 o= fafaa

What is resistance? Write its unit.

3T T Hih I9T U9 it YBHH FH F4 2 TH 90 F TH IYEGH
fafEw

How will you identify a convex mirror by touching it? Write its one

[2+1=3]

[2+1=3]

use.
FERARTGE T 1 W THifeha {@Tes ST
92 : gfe Ffea faere (a7 & @ W $RAERE T31 &1 9917 H1

[2+1=3]

Draw well-labelled diagram of Fahrenheit Scale.
Note : Visually impaired students will describe the Fahrenheit Scale

in place of the diagram.

Sitall T WHfa 1 7 TS g ¥ 7 3]

What is the effect of nature on organisms?
P.T.O.
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How can the knowledge of heredity help us in maximizing the crop

[1x4=4]

production? Write any four points.

Haqar
OR

sl % fawma fagin & 91w ge fagg fafaw)
Write any four main points of principles of biological evolution.
W¥-12 TN A 9« 9K fa@a1 4, B, C Daﬁuﬁﬁamﬂﬁaaﬁﬁ pH u

FL: 7, 14, 1,6 W< I T AMUR W F0s¢ o w1 faerai—
() vEAaRg
(if) THa iy }
(iii) Wad =g &
(iv) TEHE [+ 141+1=4)

Isha tested 4, B, C, D solutions from universa_l indicator and found
pH values 7, 14, 1, 6 respectively, On this basis, tell about the

solution which one is-
(7) strong alkali

(#)) weak acid

(#ii) strong acid

(iv) neutral
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() 2 a7 i g fefg

(i) ¥ R - w7 arfir fregt-7n g ofe 41 2

Nitrogen (atomic number=7) and phosphorus (atomic number=15)

belong to Group-15 of the modern periodic table.
(7} Write the electronic configurations of these two elements.

(i)  Which will be more electronegative and why ?

WeT-13  ATS & WA 94 dF &1 o9 Tmifed 3@ifad 995y (2+2=4]

Fie : gfe aifia faenslf wrer 977 @7 % f97 & ©F W 3G A= 30
&1 qUf7 F 1

Draw a well-labelled diagram of human female reproductive system.
Note : Visually impaired students describe the different parts of

female reproductive system in place of diagram.

Hear
OR

O ¥ Iegsd dF & WP AHifdha @it aEy |

Nz : gfte afva faenelf Ieaet1 47 & [ & T T IqF WPH F a7
caol

Draw a well-labelled diagram of human excretory system.

Note : Visually impaired students describe different parts of human

excretory system in place of diagram.
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How acetic acid is produced through quick vinegar m

[2+2=4)

ethod? Write
i1s fwo uscs.
arear

OR

ey i e S = fafy T vt e afed Foi Fiae
& ot Sy fafau)

Explain the preparation of Plaster of Paris with chemical equation.

Write its fwe uses.

Uva-15  faed YOl & wam & Ta o A S e gt fafa (5]

Write any five precautions while using electrical appliances.

Hyar
OR

TEEE aa W@l & w1 g farau)

Write any five properties of magnetic lines of force.

wA-16 (¥ @ = a9 7 & ? 376 g3 fafgu [2+1=3]
(F) T F WEdA fHH FEd € 2 2]
(a) What is Snell’s law? Write its formula,

() What is reflection of light?
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(@)  What is focal length of lens? Write its SI unit.

(b)  What is refraction of light?

17 (3) T ¥ # e (aw vt e fahay) —
(i) Wfeam H aitor & fran |
(ii) Sfceram wwite 31 i far Mo
(iii) FifoEn vy & TeSew A fear [1+1+1=3]
(7) uig 9 g § w7 siw fafan) [1+1+1=3]
(@) What happens when (write only chemical equation)-
(/) Reaction ;)f sodium with oxygen

(if)y Calcium carbonate is heated

(h) Writc three differences between metal and non-metal.

arerar

OR
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(37) HIIT FqqRY :
() WHE-18 & T QA

|
(if) mmmﬁﬁm,aﬁﬂmﬂmg

1x3<
(iii) wTgel ) e arg @ wF 8 9 € hx3=y)

Ix3<
(7)) @ a age o 7 o= faf@e [ J

(a) Give reason :

ke part in
() Normally elements of Group-18 do not take p

chemical reaction.

(i)  Gold and silver are used to make jewellery.

(it} The brightness of metals is reduced by air.

(5) Write three differences between mineral and ore.

U¥-18  (37) T FivrmisH & - foraaw was w1 & fofaa)

() 498 v & iy @3t o ¥ =) 2 [3+3=6]

(@) Write the names of blood cells and their functions.

(6) Plants are sensitive to light. Why?
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~ (a) Write names of any three hormones secreted in human body

and their functions.

(b) Smoking is injurious to health. Why?

..........



